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All questions are compulsory.
The question paper consists of 31 questions divided into four sections
A, B, C and D, Section-A comprises of 4 questions of 1 mark each;
Section-B comprises of 6 questions of 2 marks each; Section-C
comprises of 10 questions of 3 marks each and Section-D comprises of
11 questions of 4 marks each.
There is no overall choice in this question paper.
Use of calculator is not permitted.

THUE -3 [ SECTION-A

W HwN 1 6 4 ¥ werE w135 8
Question numbers 1 to 4 carry one mark each,

1 5w Hifa : [7(811/4+2561/4) /4], L{ R <
Simplify: [7(811/4 4+ 2561/4)1/4]4,
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Evaluate 982 using suitable identity,
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The two angles measuring (30°—a) and (1254 24) are supplementary to each
other, find the value of a.
4 e s w g (3, 0) 3 (0, 4) fega &7 Lf )f‘&uoﬂ)\ﬁ*”
e ? %Uuinw

On which axes do the points (3, 0) and (0, 4) li

THUE - / SECTION-B
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Question numbers 5 to 10 carry two marks each,

5w 2+ us oftlg wen 2 s 3w o s e
Is 24+ 3 a rational number ? Juslify your answer, \/%
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Factorise : 36 — (12 —8x + 16)

7 ol H AB=CD | fag Fifiw fF AC=BD %1 ma @, wam & e yfaers
L2 sn“wqm Wi ferfigu
A C B D
In the figure, AB=CD. Prove that AC=BD. Also, write the used Euclid’s
axiom,
A C B D

8 iswmfmmcomommmuﬁm@m%fmfxo =0B 4
CO=0D &1 firg Fifaw fs Ac=Bp &1 cf (] SA-D
Two line segments AB and CD intersect each other at O such that AO= OB and
CO=0D. Prove lhat AC=BD.

9 el B w et 100 m, 120 mooW 140 m §1 swE SwwE T Hifay )
(V6 =2.45 %1 wim wifay ) ILOJE wA
Sides of a triangle are 100 m, 120 m and 140 m. Find its area,
(Use J6 =245)

10 v wwarg g 1 9@ 8 om & ma}mﬂmm ZRT A WA gen]
o oft i (, J’; AN
One side of an equilateral triangle is 8 cm. Find its area using Heron's formula.
Also, find its altitude.

THUZ-H / SECTION-C
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Question numbers 11 to 20 carry three marks each,

n 24178 E F ®9 | oyga wifaw, wel p oo fmﬁamq‘oén
Express 24178 In the form-E whe?:p and q are K&g?n andq=0.

2 aze i, : 48128y 2! 6 +Y2723y® . L\il}.‘:'—
Simplify : 'VSI.\”_:/‘ 26 4 v27x3 P2, 3\3,)’5,\1

13 =i & 2 5i3, WEYR 3 -3~ ax+ 12 & ype 1 v g i s o
Show that 2 and 3 are zeroes of the polynomlal x3=3x2 —a4x+12. Also, find the third
zero of the polynomial,

14 47 wg9El pd + axd + 3x- x’ dx+p W x—3 A wm fam s el
feufy 3 dwer gam 31 paw v @ FAfEg — 1'1 L“
if the polynemials px®+4x? 4+ 3x—4 and x*—4x+ p are ‘divided by x—3, then the
remainder in each case is the same. Find the value of p.
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case () case (i)
If the arms of one angle are respectively parallel to the arms of another angle
then prove that the angles are either equal or supplementary.

A
D

B P c
E F

E F
) case (i)‘ case (i)
16 mv#mn';om:;s/mnx;zm.AAucfsmﬂafa:mm«ﬁmo 3
B

: Al C
In the given figure ZCAB :2 BAD=1:2, find all the internal angles of AABC,
17 dwd swpfa d, BC w9 fig D &1 g #1056 AB+ BC+CA > 2 AD 21 3

A
B/DNC

In the given figure, D is a point on BC. Prove that AB+BC + CA > 2 AD.
18 3pfa W, AB|ICD, £ABE = 130° 3t ZCDE = 170°%1 /BED¥H wifau | 3
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In the figure, AB||CD, ZABE = 130° and ZCDE = 170", Find <BED.
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A field is in the shape of a trapezium whose parallel sides are 10 m and
25 m. If non = parallel sides are 13 mand 14 m, find the area of the field. ‘o\']\
77 fag ¥ Fedurrar feafor, o ya wam ) A
() wif-5 8 au . Wl )
() 0 f 2T sl ywa v @
(i)  Torme W1 -3 & A &y oy g e By
Write the co-ordinates of the point,
(i) whose ordinate is =5 and whkll lies on y-axis. m 1
(i) which lies on x and y axes both. ©
(1) whose abscissa is =3 and which lies on 1-axis. ﬂ
EUE-T / SECTION-D
W HEN 219 31 7 WOFE % 4 576
Question numbers 21 ta 31 carry four marks each,

4
a # b a Fifay, #fy %g- %’—; a+J5b#

Fmdaandb"% 73 xﬁ a+/50. y = ‘;‘JTS

Express 32,1235 in the form —, where m and n are integers and n#0 ?
UErES FRAY : 4a?-9b? - 2a—3b ,% %@)Qﬂ’y ) ¢
Factorise : 4a? ~9b% - 2a~3b %‘

TOMEE FAAY - 204 70 - 3u - 18 Gt 16 #3602 - at) Fje=T.

Factorise : 2v' + 7v* = 3v—18 ' =,
4 P Fafa gR0, 9092 4t~ 600 + 602 =1 F 212-3 @ N % M 4
A WA ‘W

By fong division, find the remainder when the polynomial 43! =61 + 632~ 1 is
divided by 2423,

TS plx)=a® =273 + 367 —ax + 32— 7 F W (x4 1) F wm fem qn §, @ dwwE & 8
:9smntnammnMMWmmpmﬁnznmfmm Y
4 = =]

The polynomial p(x) =x*—2x> + 3x¥ = ax + 33— 7 when dlvided by (x+ 1) leaves the
remainder 19. Find ‘a". Then, find the remainder when p(x) is divided by x + 2,
mﬁwﬂwﬁ%mﬁmmfﬂqﬁmﬂwﬁmwzs!ﬂmfwd 4
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Students are making banners, as shown in figure, to make people aware to save water
for their community. What value are they showing by doing so? All corner angles of
the banner are equal, which Euclid Postulate supports the fact? Write any two ather
Euclid Axioms.

ox'evA )

Save ('/J('\OM T

Water

AABCﬁWBC,CAH!ﬂHAW:Fﬂ%‘:ﬁD,QmPﬁmmm?nﬁi, 4
& ZACD=100%, 2QAP=35"%1 finm & Wt 1 3w wifar
Q

[
Sides BC, CA and BA of a triangle ABC are produced to D, Q, P, respectively as
shown in the figure. If ZACD =100, ZQAP =35, find all the angles of the
triangle.
357/ "
A

100”

B c D
fag Fifaw i 2 Figw wafren 6§, af2 ur Bom & 2 %o s 3@ siaf 4
T R P 3 2 sl aite 3 siofa s % woa

Prove that two triangles are congruent if any two angles and the included side p g = gc

of one triangle is equal to any two angles and the included side of the other H’C
triangle. =

fors 5, Y 1, 2A v & aw w e Ry B E) Bp shopg, faz p @ g.ﬁcco

FU A F el WO T e € zuige fE - (i) AAPB = AAQB #t
(ii) BP=BQ# Q D
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In given figure, line | is bisector of an angle ZA and Bis any pointon /. BP and
BQ are perpendiculars from B to the arms of £A. Show that (i) AAPB = AAQB
and (i) BP=BQ. -~
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31 @ sn%fa § AC= BC, ZDCA = ZECB 891/DBC = ~EAC #l fig Fifsu 4
DC=EC .
i
D r _erg

| AN
A = (,(,6s
6% — [ PBC =(Eal (stlen

PC—=Fo Lfel
In the given figure AC= BC, £ DCA =~ ECBand £ DBC= ~ EAC

Prove that DC = EC

~obo-
Ara Rhico . ) ‘
(@ = ((c coeh®a)
(NBE 1 (UR-= 12" Arszo (&= (¥ LS
105 ¢ tXae (O] AL = ns  {torm mg, ).
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